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4.3.3
44a (rrrwn o871 > 45a (At I8 7113)
Note: v (=pyv ) is generally assumed to positively affect the food that has been flavored and the vessel in which it was

cooked. This is only true for the first 24 hours (11’ 13); after that point, we consider any flavoring to be 97501 (=195 DYv 1111)),
flavoring in a detrimental way — which is generally not prohibited.
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L. 9p’v3 pyv: the principle that taste defines (x111n%) the essence — previously inferred from nywn (v. 1)
a.Challenge: mwn is used for 1p>»3 yv; if grapes are soaked in water and they absorb flavor — 27n
i. And:we apply it to D720 *R3 via 1"p (11 is temporary, retractable and no nRIN MO'R)
1.And: we also apply that 1"p to %1y (as t has 2 of those mImn — it is also temporary)
ii. Answer: this application (7°»3 nyv) follows 1327; 1N "1 was following ¥ (who holds MoR5 97080 AN°N)
1.Source (possibility1): R:1 111 — y™ rules that if a 7°11 soaked his bread in wine and there was not5 — 27n
a) Rejection: perhaps there’s liability only if there was a full 1w of wine itself; teaching 2vn for 1 nayyn
2.Source (possibility2): Rn13, where ™ explicitly rules (in that case) if there is a 13 of the mix — 27n
II. Related exploration: finding a source for 7p’»3 nyv according to " (who used n1wn for NOKRY 97080 IN’N)
a. Possibility1: from n"a1 —just as the taste of one forbids the other, so too, nyv of any Mo’R “infects” an’n
i. 7227 (who infer from nwy): reject that on grounds that n"a1is a vy
1.Explanationl: it is a wyTn in that each is permissible on its own, only the mix is 108
a) Rejection: that is also true about 08
2.Explantion2: if soaked all day - still 1mmn once cooked — becomes 1108
3.Subconclusion: ™ accepts that argument and concedes that n”11 is unique >not the source
b. Possibility2: 0121 79 (the obligation to kasher vessels taken from 110 due to taste of oK)
i. 227 7215 is unique: normally 87501 is permissible (see note)
ii. p”. disagrees and maintains that only a ymv-11 is obligated to have nyan done
1. 237: nonetheless, it probably put some D35 in the vessel —yet we are obligated to perform nYyan
II. Applying 710'8Y 99030 a0 (¥™) to other MOR
a. 3Py 12 nN 77 parallel 1121 (77709 oyvDeverywhere) to Y™ (T0RS 97030 11271 Deverywhere)
b. Rejection: 111 (v. 1) and nron (v. 2) are TNRI DRI P2INI NV DPTon PR
i. nxvm: if nron w1 and N5 w1 (for example) are mixed, defined as nxron
IV. Summary: according to both "1 and 1121
a. y”1. both 7911 and nron teach that TORY 408N AN DN PR
i. 777v5 oyv. inferred from D21 "7
b. 7227 nron (alone) teaches MORY 970%N NN
i. But: cannot be applied to other p11oR; WP, which are 71N, cannot be a model for the mundane
ii. 7x teaches 7p’y> DYV (universally applied)
V. Final note re: 111 ™Mo
a.premise: v. 1, including » 791 %00, teaches that all parts combine for a 1w (171°%)
i. challenge (83773 "15 »®& 7): to Y™, this should be unnecessary; if MO'RY 4708 AN, certainly NOIRY 4I0RN NOK
ii. y71 that is unnecessary, since MM’RY 470¥N N
ili. Answer: MORY 97030 1N if eaten at once
1.But: multiple forms of Mo’k combine even if eaten separately
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